£18[0 6 FERIFAR

1H 9BA=

A M REISCHYIR FCU&ND hRUIILT2000 7RESC FC85A-ILR5-X| B | 8K | NBfiL
REISCHYIR . 2, , 4 , 9 .0 4 2 3
FCUEDD 3?0 2C->o 5C->o 3C_>1 12 12 1
MRUILT2000 | A , . 2, ) © . .Y 4 2 4
RSC 0?2 0?5 0 - 1 0?4 0 12 >
regst-nzs-x| 9 LY 9 PR 9 4 2

B m FEMSC MPNERSC | REISCRIAL | J\EXwYISC £H]SC B | TR | B
FEMASC o . 2, L0 o . 2 - 4
HFNEIRSC o .0 ., ., ) 2| s
sscroth | O 9 9 L9 2] e 1
v e ) A . . O . . ¢ . . ° ; 4 1 3
EAISC 4C->o 4C->1 0?1 3C->o o ? 2

1H10BX=

A YIJEFESC | AHYRIFC £H]SC FCIZT5>1 BAFC B | Bk | IEnr
xRS 0?3 4C->o 0?2 0?4 3 > 4
RAYRIFC 3C->o 4C_>0 1§1 190 10 8 1
&isc 0?4 0?4 0?2 0?9 0 19 >
FCIZI3>3 ) O 0 ) é ) ) O 0 3 O 0 10 7 2
iBFC 4C->o 0?1 9C->o 0?3 ° ? 3

B M FEMSC ZERBFC FEREVESC FEIFSC TILEPESC | Bsm | BR= | NBf
FEMESC 2C->1 . T 2C->o 390 9 4 2
ZE2BFC 1f2 0?3 0?1 1C_>0 3 -4 4
mwmvese |, O . 9 , Y , 9 | 2| 8 1
BlasC 0?2 1C->o 0?2 1é1 4 -3 3
LD ESC . T . T, R Lo 1 5 5




